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1. (c) W N G R

C

I

O

K

H

E

B

M O

S L

Y J

E F

+6

+6

+6

+6

–3

–3

–3

–3

+6 –3

+6 –3

+6 –2

+6 –4

U

2. (c) F L C 21

J

N

R

P

T

X

B

G 33

K 45

O 57

S 69

+4

+4

+4

+4

V

+4

+4

+4

+4

+4

+4

+4

+4

+12

+12

+12

+12

3. (a)

4. (c)

12

3

8

2

4

1

÷4 ÷4 ÷4 

L H D

Similarly,

24

6

20

5

16

4

÷4 ÷4 ÷4 

X T P

5. (b) S Q U A B B L E

7 6 5 2 1 1 3 8

Similarly,

E  Q  U  A  L

8  6  5  2 3

6. (c)

AmanRajat

15  from left
th

30  from right
th

19  from left th

Now,
Total children in the row =
Position of Aman from left +

Position of Aman from right–1
= 19 + 30 – 1
= 49 – 1
= 48
Thus, the total number of
children in the row is '48'.

7. (b)
Class Subject Person

I Mathematics Pintu

II Hindi Chintu

III Arts Ramesh

IV Science Mahesh

V English Suresh

8. (a)
Board Notice

Rings

9. (d)
Kitchen Hotel

Guest
Hall

10. (c) ×Circle Rectangle Square Triangle

11. (b) (3, 18, 36)
 3 × 6 = 18
 18 × 2 = 36
Similarly,

(4, 24, 48)
 4 × 6 = 24
 24 × 2= 48

12. (d)Given statement: A > B > C,
D > M < K, D > C
On combining: A > B > C <
D > M < K
Conclusions:

I. C < M  FALSE (as A > B >
C < D > M < K  clear
relationship between C and
M cannot be determined).

II. B >K  FALSE (as A > B > C
< D > M < K  clear relation-
ship between B and K cannot
be determined).

13. (a) 76, 80, 107, 123, , 284248

+4 +27 +16 +125 +36

(2)
2

(3)
3

(4)
2

(5)
3

(6)
2

14. (b)

15. (b)
16. (b)
17. (c)
18. (b)
19. (b)
20. (b)

21. (c) R E M T

A

J

S

M

U

C

K

V B

E J

N R

W Z

+9

+9

+9

+9

B

+8

+8

+8

+8

+9

+9

+9

+9

+8

+8

+8

+8

22. (a) In each group the number
placed at the second place
represents the positional
value of the letter placed at
the first place.
The positional value of letters
placed at 3rd and 4th
position is in ascending
order.

P 16 H I

Positional
Value

8  9

,  

V 22 O P

Positional
Value

15 16

B  2 V W

Positional
Value

22 23

,  H  8 C D

Positional
Value

3  4

N 14 J K

Positional
Value

10 11

23. (a) Y = M < N < B = D; M > Z; N
< J
Conclusion I: Z < J True 
On combining all three
statements, we get; Z < M <
N < J
Conclusion II: D > J
On combining the first and
third statements, we get;
J > N < B = D  False
So, in this arrangement, no
definite relation can be found
between D and J.
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24. (d) M I G R A N T

L H F Q Z M S

–1 –1–1 –1 –1–1 –1

Similarly,

–1

G  E  L  C  W

F  D  K  B  V

–1 –1 –1 –1

25. (b)

B-GENERAL AWARENESS
26. (a) Pushyamitra Shunga, the

commander-in-chief of the
Mauryan army, killed the
last Mauryan ruler
Brihadratha in 185 BCE and
founded the Shunga
Dynasty. This marked the
end of the Mauryan Empire
and the beginning of Shunga
rule in northern India.
Kanva – founded after
Shunga Dynasty
Chedi – a Mahajanapada
Kingdom; Modern Madhya
Pradesh
Satavahana – Prominent
Deccan Empire; associated
with Ajanta , Ellora and
Elephanta cave arts.

iq";fe=k 'kqax] tks ekS;Z lsuk ds lsukifr
Fks] us 185 bZlk iwoZ esa vafre ekS;Z
'kkld c`gæFk dh gR;k dj 'kqax oa'k
dh LFkkiuk dhA blls ekS;Z lkezkT; dk
var gqvk vkSj mÙkjh Hkkjr esa 'kqax 'kklu
dh 'kq#vkr gqbZA
d.o & 'kqax oa'k ds ckn LFkkfir
psfn & ,d egktuin lkezkT;_ vkèkqfud
eè; çns'k
lkrokgu & çeq• nDdu lkezkT;_
vtark] ,yksjk vkSj ,yhiQsaVk xqiQk dyk
ls lacaf/rA

27. (a) Rajendra-I led a successful
military campaign to North
India around 1025 CE,
reaching the Ganga River
and defeating rulers of
Bengal.
Rajaraja I – Father of
Rajendra I; expanded the
Chola Empire but did not
reach the Ganga or invade
Bengal.
Vijayalaya – Founder of the
Chola dynasty in the 9th
century; not involved in any
northern campaign.

Rajadhiraj I – Son of
Rajendra I; known for
southern and Deccan
campaigns, but not the
Ganga expedition.

jktsaæ çFke us 1025 bZLoh ds vklikl
mÙkjh Hkkjr esa ,d liQy lSU; vfHk;ku
dk usr̀Ro fd;k] xaxk unh rd igq¡ps
vkSj caxky ds 'kkldksa dks gjk;kA
jktjktk çFke – jktsaæ çFke ds firk_
pksy lkezkT; dk foLrkj fd;k ysfdu
xaxk rd ugha igq¡ps ;k caxky ij vkØe.k
ugha fd;kA
fot;ky; – 9oha 'krkCnh esa pksy oa'k
ds laLFkkid_ mÙkjh vfHk;ku esa 'kkfey
ugha FksA
jktkf/jkt çFke – jktsaæ çFke ds iq=k_
nf{k.kh vkSj nDdu vfHk;kuksa ds fy,
tkus tkrs gSa] u fd xaxk vfHk;ku ds
fy,A

28. (c) The Seven Years' War (1756–
1763) was mainly fought
between Britain and France
across Europe, North
America, and India. In India,
it coincided with the Third
Carnatic War.
Germany – Germany did not
exist as a unified nation in
the 18th century; various
German states were
involved, but not directly
against Britain.
Portugal – Portugal was an
ally of Britain, not its enemy
in this war.
Spain – Spain entered the
war later in support of
France but was not the
principal opponent of
Britain.

lkr lky dk ;q¼ (1756–1763) eq[;
:i ls fczVsu vkSj Úkal ds chp ;wjksi]
mÙkjh vesfjdk vkSj Hkkjr esa yM+k x;kA
Hkkjr esa ;g rhljs dkukZVd ;q¼ ds
lkFk esy •krk gSA
teZuh – 18oha 'krkCnh esa teZuh ,d
,dhÑr jk"Vª ds :i esa ekStwn ugha Fkk_
fofHkUu teZu jkT; 'kkfey Fks] ysfdu
fczVsu ds f•ykiQ lh/s rkSj ij ughaA

iqrZxky – iqrZxky bl ;q¼ esa fczVsu dk

lg;ksxh Fkk] u fd nq'euA

Li su – Lisu us ckn esa Úkal ds leFkZu

esa ;q¼ esa ços'k fd;k] ysfdu ;g

fczVsu dk çeq• fojks/h ugha FkkA
29. (a) The Karachi Session of the

Indian National Congress

was held in 1931, under the

presidency of Sardar

Vallabhbhai Patel. It passed

a significant resolution on

Fundamental Rights and

Economic Policy, outlining

how the Constitution of

independent India should

ensure rights like equality,

freedom, protection of

minorities, and state

responsibility in providing

basic needs.

1928 – The year of the Nehru

Report (a proposed draft

constitution)

1946 – Year of the Cabinet

Mission.

1945 – End of World War II.

Hkkjrh; jk"Vªh; dkaxzsl dk djkph l=k

1931 esa ljnkj oYyHkHkkbZ iVsy dh

vè;{krk esa vk;ksftr gqvkA blesa ekSfyd

vf/dkjksa vkSj vkfFkZd uhfr ij ,d

egRoiw.kZ ladYi ikfjr fd;k x;k] ftlesa

Lora=k Hkkjr ds lafo/ku esa lekurk]

Lora=krk] vYila[;dksa dh lqj{kk vkSj

cqfu;knh t:jrksa ds fy, jkT; dh

ftEesnkjh tSls vf/dkjksa dh :ijs•k

rS;kj dh xbZA

1928 & usg: fjiksVZ (lafo/ku dk

,d çLrkfor elkSnk) dk o"kZ

1946 & dSfcusV fe'ku dk o"kZ

1945 & f}rh; fo'o ;q¼ dh lekfIrA
30. (c) The Moon takes

approximately 27.3 days to

complete one revolution

around the Earth relative to

the stars. This is known as

a sidereal month.
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paæek rkjksa ds lkis{k i`Foh ds pkjksa
vksj ,d pDdj iwjk djus esa yxHkx
27-3 fnu ysrk gSA bls lkbMsfj;y ekl
(uk{k=k ekl) dgk tkrk gSA

31. (c) The total length of India's

coastline, including the

mainland, Andaman &

Nicobar Islands, and

Lakshadweep Islands, is

approximately 7516.6

kilometres.

Hkkjr dh rVjs•k dh dqy yackbZ] ftlesa
eq[; Hkwfe] vaMeku vkSj fudksckj }hi
lewg] vkSj y{k}hi }hi lewg 'kkfey
gSa] yxHkx 7516-6 fdyksehVj gSA

32. (a) The Atal Tunnel is a 9.02 km
long engineering marvel built
under the Rohtang Pass in
Himachal Pradesh. It
connects Manali to the
Lahaul-Spiti Valley,
ensuring year-round
connectivity that was
previously disrupted for half
the year due to heavy
snowfall.

vVy Vuy fgekpy çns'k esa jksgrkax
njZs ds uhps fufeZr 9-02 fdeh yack
bathfu;fjax peRdkj gSA ;g eukyh dks
ykgkSy&Lihfr ?kkVh ls tksM+rk gS] ftlls
o"kZ Hkj dusfDVfoVh lqfuf'pr gksrh gS]
tks igys Hkkjh fgeikr ds dkj.k vkèks
lky rd ckf/r jgrh FkhA

33. (b)Prem Behari Narayan
Raizada was the calligrapher
who handwrote the original
English version of the Indian
Constitution. He used a
beautiful flowing italic style
and completed the task over
a period of six months.
HVR Iyengar was the
Secretary-General of the Lok
Sabha.
Vasant Krishan Vaidya was
involved in illustrations.
SN Mukherjee was the
constitutional draftsman.

çse fcgkjh ukjk;.k jk;tknk og lqys•d
Fks ftUgksaus Hkkjrh; lafo/ku dh ewy
vaxzsth çfr dks gLrfyf•r fd;kA mUgksaus
lqanj çokgh bVSfyd 'kSyh dk mi;ksx
fd;k vkSj bl dk;Z dks Ng eghus esa

iwjk fd;kA
,pohvkj v;axj yksdlHkk ds egklfpo
FksA
olar Ñ".k oS| fp=k.k esa 'kkfey FksA
,l,u eq•thZ laoS/kfud elkSnkdkj FksA

34. (d)The Fundamental Duties of

Indian citizens are listed

under Article 51A of the

Constitution. They include

protecting public property,

upholding the sovereignty

and unity of India, and

promoting harmony and the

spirit of common

brotherhood among all

people. However, "protecting

monuments" is not

mentioned as a

Fundamental Duty in the

Constitution, although it is

a civic responsibility.

Option (a), (b), and (c) are all

explicitly mentioned as

Fundamental Duties under

Article 51A.

Hkkjrh; ukxfjdksa ds ekSfyd drZO;
lafo/ku ds vuqPNsn 51A ds rgr
lwphc¼ gSaA buesa lkoZtfud laifÙk dh
j{kk djuk] Hkkjr dh laçHkqrk vkSj ,drk
dks cuk, j•uk] vkSj lHkh yksxksa ds
chp HkkbZpkjs vkSj lkekU; HkkbZpkjs dh
Hkkouk dks c<+kok nsuk 'kkfey gSA
gkykafd] "Lekjdksa dh j{kk djuk"
lafoèkku esa ekSfyd drZO; ds :i esa
mfYyf•r ugha gS] gkykafd ;g ,d
ukxfjd ftEesnkjh gSA
fodYi (a), (b)] vkSj (c) vuqPNsn
51A ds rgr Li"V :i ls ekSfyd
drZO;ksa ds :i esa mfYyf•r gSaA

35. (c) India does not have a full

Free Trade Agreement with

the European Union. Though

negotiations have been

ongoing under the India-EU

Broad-based Trade and

Investment Agreement

(BTIA), a formal agreement

has not yet been finalised.
ASEAN – India signed an FTA
in goods (2009) and services

(2014) with ASEAN.

Hkkjr dk ;wjksih; la?k ds lkFk iw.kZ
eqDr O;kikj le>kSrk ugha gSA gkykafd
Hkkjr&;wjksih; la?k O;kid O;kikj vkSj
fuos'k le>kSrs (BTIA) ds rgr ckrphr
py jgh gS] ysfdu vHkh rd dksbZ
vkSipkfjd le>kSrk vafre :i ugha
fn;k x;k gSA
vkfl;ku – Hkkjr us 2009 esa oLrqvksa
vkSj 2014 esa lsokvksa esa vkfl;ku ds
lkFk FTA ij gLrk{kj fd,A

36. (b)Thalinomics was introduced
in the Economic Survey
2019–20 by the Government
of India. It analyses the
affordability of a plate of food
(thali) across Indian states
over time, using economic
indicators like food price
trends and wages. The
concept aimed to simplify
complex economic data by
showing how economic
growth and inflation affect
common people’s daily
meals.

FkkyhukWfeDl dks Hkkjr ljdkj }kjk 2019
– 20 ds vkfFkZd loZs{k.k esa is'k fd;k
x;k FkkA ;g Hkkjrh; jkT;ksa esa le; ds
lkFk ,d Fkkyh (Hkkstu dh Fkkyh) dh
lkeF;Z dk fo'ys"k.k djrk gS] ftlesa
•k| ewY; #>ku vkSj etnwjh tSls
vkfFkZd ladsrdksa dk mi;ksx fd;k tkrk
gSA bl vo/kj.kk dk mís'; tfVy
vkfFkZd MsVk dks ljy cukuk Fkk] ;g
n'kkZrs gq, fd vkfFkZd fodkl vkSj
eqækLiQhfr vke yksxksa ds nSfud Hkkstu
dks dSls çHkkfor djrs gSaA

37. (a)Open Market Operations
(OMOs) by the Reserve Bank
of India (RBI) are of two main
types:

1. Purchase of securities (to
inject liquidity into the
banking system)

2. Sale of securities (to absorb
excess liquidity from the
system)
These are tools used by RBI
to regulate the money supply
and maintain financial
stability in the economy.
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Hkkjrh; fjtoZ cSad (RBI) }kjk vk;ksftr

•qys cktkj lapkyu (OMOs) nks eq[;

çdkj ds gksrs gSa%

    1- çfrHkwfr;ksa dh •jhn (cSafdax ç.kkyh esa

udnh Mkyus ds fy,)

    2- çfrHkwfr;ks a dh fcØh (ç.kkyh ls

vfrfjDr udnh dks vo'kksf"kr djus

ds fy,)

       ;s midj.k RBI }kjk eqæk vkiwfrZ dks

fu;af=kr djus vkSj vFkZO;oLFkk esa foÙkh;

fLFkjrk cuk, j•us ds fy, mi;ksx

fd, tkrs gSaA
38. (a)Rectilinear motion is the

movement of an object in a

straight line. In this case, the

upward and downward

lifting of an object, soldiers

marching straight during a

parade, and the vertical free

fall of a heavy object are all

examples of motion in a

straight path.

Periodic motion – Involves

repetition at fixed intervals.

Rotational motion – Refers to

spinning around an axis.

Oscillatory motion – Involves

back-and-forth motion about

a mean position.

ljy js•h; xfr og xfr gS ftlesa

dksbZ oLrq lh/h js•k esa pyrh gSA bl

ekeys esa] fdlh oLrq dks Åij&uhps

mBkuk] ijsM ds nkSjku lSfudksa dk lhèks

pyuk] vkSj fdlh Hkkjh oLrq dk ÅèokZèkj

eqDr iru] ;s lHkh lh/s jkLrs esa xfr

ds mnkgj.k gSaA

vkof/d xfr – blesa fuf'pr varjky

ij nksgjko 'kkfey gksrk gSA

?kw.kZu xfr – fdlh v{k ds pkjksa vksj

?kweus dks lanfHkZr djrk gSA

nksyu xfr – blesa ,d vkSlr fLFkfr

ds vklikl vkxs&ihNs dh xfr 'kkfey

gksrh gSA
39. (d)Paul Dirac is renowned for

his Dirac equation, which

combines quantum

mechanics and special

relativity and predicted the

existence of antimatter.

He is not associated with

research on liquid helium.

Work related to liquid helium

and superfluidity is credited

to Heike Kamerlingh Onnes

(who first liquefied helium)

and Lev Landau (who

explained superfluidity).

ikWy fMjkd viuh fMjkd lehdj.k ds

fy, çfl¼ gSa] tks DokaVe ;kaf=kdh vkSj

fo'ks"k lkis{krk dks tksM+rk gS vkSj

çfrinkFkZ (,aVheSVj) ds vfLrRo dh

Hkfo";ok.kh djrk gSA

mudk rjy ghfy;e ij 'kks/ ls dksbZ

laca/ ugha gSA

rjy ghfy;e vkSj lqijÝyqbfMVh ls

lacaf/r dk;Z ghds dSejfyax vksusl

(ftUgksaus igyh ckj ghfy;e dks æfor

fd;k) vkSj yso ySaMkm (ftUgks aus

lqijÝyqbfMVh dks le>k;k) dks Js;

fn;k tkrk gSA
40. (d)Niels Bohr proposed his

model of the hydrogen atom

in 1913, introducing the

revolutionary idea that

electrons revolve in fixed,

quantised orbits around the

nucleus. He stated that

energy levels are discrete,

and electrons could jump

between these levels by

absorbing or emitting

specific quanta of energy.

This theory was a critical

development in atomic

physics and was based on

Planck’s quantum theory

and Rutherford’s nuclear

model./uhYl cksj us 1913 es a

gkbMªkstu ijek.kq dk viuk ekWMy

çLrkfor fd;k] ftlesa ;g Økafrdkjh

fopkj is'k fd;k fd bysDVªkWu ukfHkd

ds pkjksa vksj fuf'pr] DokaVkbTM d{kkvksa

esa pDdj yxkrs gSaA mUgksaus dgk fd

ÅtkZ Lrj vlrr gksrs gSa] vkSj bysDVªkWu

fof'k"V ÅtkZ DokaVk dks vo'kksf"kr ;k

mRlftZr djds bu Lrjksa ds chp dwn

ldrs gSaA ;g fl¼kar ijek.kq HkkSfrdh

esa ,d egRoiw.kZ fodkl Fkk vkSj ;g

IySad ds DokaVe fl¼kar vkSj jnjiQksMZ

ds ijek.kq ekWMy ij vk/kfjr FkkA
41. (d)Euplectella is a sponge

(phylum Porifera) and

exhibits a cellular grade of

organisation, not tissue-

organ. In Porifera, cells are

loosely aggregated and do

not form true tissues or

organs. Therefore, pairing

Euplectella with tissue-

organ grade is incorrect.

Sycon (Porifera) correctly

shows cellular grade.

Paramecium (unicellular

protozoan) fits the

protoplasmic grade.

Jellyfish (Cnidaria) shows a

cell-tissue grade, as its cells

are organised into tissues

but not organs.

;wIysDVsyk ,d Liat (iQkbye iksfjiQsjk)

gS vkSj blesa lsyqyj xzsM laxBu fn•kbZ

nsrk gS] u fd Ård&vax xzsMA iksfjiQsjk

esa] dksf'kdk,¡ <hys <ax ls ,df=kr gksrh

gSa vkSj okLrfod Ård ;k vax ugha

cukrh a A blfy,] ;wIy sDV syk dk s

Ård&vax xzsM ds lkFk tksM+uk xyr

gSA

lkbdkWu (iksfjiQsjk) lgh <ax ls lsyqyj

xzsM fn•krk gSA

iSjkehf'k;e (,ddksf'kdh; çksVkstksvk)

çksVksIykfTed xzsM ds fy, mi;qDr gSA

tsyhfiQ'k (fuMkfj;k) lsy&Ård xzsM

fn•krh gS] D;ksafd bldh dksf'kdk,¡

Årdksa esa laxfBr gksrh gSa ysfdu vaxksa

esa ughaA
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42. (c) The pivotal joint connects

the skull to the vertebral

column at the neck. This

joint allows the head to

rotate side to side, such as

when saying "no." It is

formed between the atlas (1st

cervical vertebra) and axis

(2nd cervical vertebra).

Ball and socket joint 

Found in shoulder and hip

joints.

Hinge joint  Found in knee

and elbow, allows movement

in one plane.

Fixed joint  Found in skull

bones, no movement.

fioV tksM+ •ksiM+h dks jh<+ dh gîóh ls
xnZu ij tksM+rk gSA ;g tksM+ flj dks
cxy esa ?kqekus dh vuqefr nsrk gS] tSls
fd "ugha" dgrs le;A ;g ,Vyl
(igyh xzhok d'ks#dk) vkSj ,fDll
(nwljh xzhok d'ks#dk) ds chp curk
gSA
ckWy vkSj lkWdsV tksM+  da/s vkSj
dwYgs ds tksM+ksa esa ik;k tkrk gSA
dCtk tksM+  ?kqVus vkSj dksguh esa
ik;k tkrk gS] ,d ry esa xfr dh
vuqefr nsrk gSA
fLFkj tksM+  •ksiM+h dh gfîó;ksa esa
ik;k tkrk gS] dksbZ xfr ugha gksrhA

43. (b)To convert binary 1011 to
decimal, multiply each bit by
powers of 2 from right to

left:/ckbujh 1011 dks n'keyo esa
cnyus ds fy,] çR;sd fcV dks nk,a ls
ck,a 2 dh ?kkrksa ls xq.kk djsa%
(1×8) + (0×4) + (1×2) + (1×1)
= 8 + 0 + 2 + 1 = 11

44. (a)ACID is an acronym used in
database systems to ensure
reliable processing of
transactions:
Atomicity: Ensures that all
operations within a
transaction are completed
successfully or none at all.
Consistency: Guarantees
that a transaction brings the
database from one valid state
to another.
Isolation: Ensures that

concurrent transactions do
not interfere with each other.
Durability: Once a
transaction is committed,
the changes remain
permanent even in case of a
system failure.

ACID MsVkcsl flLVe esa ysunsu dh
fo'oluh; çfØ;k lqfuf'pr djus ds
fy, mi;ksx fd;k tkus okyk ,d laf{kIr
uke gS%
ijek.kqdrk% ;g lqfuf'pr djrk gS fd
,d ysunsu ds lHkh dk;Z liQyrkiwoZd
iwjs gksa ;k dksbZ Hkh u gksA
laxrrk% ;g xkjaVh nsrk gS fd ,d
ysunsu MsVkcsl dks ,d ekU; fLFkfr ls
nwljh ekU; fLFkfr esa ys tkrk gSA
vyxko% ;g lqfuf'pr djrk gS fd
leorhZ ysunsu ,d&nwljs ds lkFk gLr{ksi
u djsaA
LFkkf;Ro% ,d ckj ysunsu iw.kZ gksus ij]
flLVe foiQyrk ds ekeys esa Hkh ifjorZu
LFkk;h jgrs gSaA

45. (d)The Bharat Ratna, India’s
highest civilian award, and
the Padma Vibhushan, the
second-highest civil ian
award, were both instituted
in 1954. These awards
recognise exceptional service
in any field, including the
arts, literature, science, and

public services.

Hkkjr jRu] Hkkjr dk lokZsPp ukxfjd

iqjLdkj] vkSj iÁ foHkw"k.k] nwljk lokZsPp

ukxfjd iqjLdkj] nksuksa 1954 esa LFkkfir

fd, x, FksA ;s iqjLdkj dyk] lkfgR;]

foKku vkSj lkoZtfud lsokvksa lfgr

fdlh Hkh {ks=k esa vlk/kj.k lsok dks

ekU;rk nsrs gSaA
46. (a) Major Dhyan Chand, one of

India's greatest hockey

players, was born on 29

August 1905. In his honour,

India celebrates National

Sports Day every year on 29

August. The day recognises

his legendary contributions

to Indian hockey and

promotes the importance of

sports and physical activity

in daily life. On this

occasion, various awards

such as the Rajiv Gandhi

Khel Ratna, Arjuna Award,

and Dronacharya Award are

also presented.

estj è;kupan] Hkkjr ds egkure gkWdh

f•ykfM+;ksa esa ls ,d] dk tUe 29

vxLr 1905 dks gqvk FkkA muds lEeku

esa] Hkkjr gj lky 29 vxLr dks jk"Vªh;

•sy fnol eukrk gSA ;g fnu Hkkjrh;

gkWdh esa muds egku ;ksxnku dks ekU;rk

nsrk gS vkSj •sy vkSj 'kkjhfjd xfrfof/

ds egRo dks c<+kok nsrk gSA bl volj

ij] jktho xka/h •sy jRu] vtZqu iqjLdkj

vkSj æks.kkpk;Z iqjLdkj tSls fofHkUu

iqjLdkj Hkh çnku fd, tkrs gSaA
47. (d)The Indian Space Research

Organisation (ISRO)

developed the world’s largest

10-tonne vertical planetary

mixer for solid propellants.

This mixer plays a key role

in preparing solid

propellants used in rockets

and launch vehicles, helping

improve the efficiency and

safety of India's space

missions.

DRDO (Defence Research

and Development

Organisation): Primarily

focuses on defence

technologies. Ex- Brahmos,

Barak, Akash etc.

HAL (Hindustan Aeronautics

Limited): Specialises in

aircraft manufacturing and

aerospace components. Ex-

Tejas jet, Dhruv helicopter

etc.

IISC (Indian Institute of

Science): It is an academic

research institute founded

by C. V. Raman. Involved in

various research activities.
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Hkkjrh; varfj{k vuqla/ku laxBu
(ISRO) us Bksl ç.kksndksa ds fy, fo'o
dk lcls cM+k 10&Vu ofVZdy IySusVjh
feDlj fodflr fd;kA ;g feDlj jkWdsV
vkSj ç{ksi.k ;kuksa esa mi;ksx fd, tkus
okys Bksl ç.kksndksa dks rS;kj djus esa
egRoiw.kZ Hkwfedk fuHkkrk gS] ftlls Hkkjr
ds varfj{k fe'kuksa dh n{krk vkSj lqj{kk
esa lq/kj gksrk gSA
MhvkjMhvks (j{kk vuqla/ku ,oa fodkl
laxBu)% eq[; :i ls j{kk çkS|ksfxfd;ksa
ij dsafær gSA mnkgj.k& czãksl] cjkd]
vkdk'k vkfnA
,p,,y (fgan qLrku ,;jk suk W fVDl
fyfeVsM)% foeku fuekZ.k vkSj ,;jksLisl
?kVdksa esa fo'ks"kKrkA mnkgj.k& rstl
tsV] èkqzo gsyhdkWIVj vkfnA
vkbZvkbZ,llh (Hkkjrh; foKku laLFkku)%
;g lh- oh- jeu }kjk LFkkfir ,d
'kS{kf.kd vuqla/ku laLFkku gSA ;g
fofHkUu vuqla/ku xfrfof/;ksa esa layXu
gSA

48. (c) In July 2025, a cloudburst
triggered a devastating flash
flood in Dharali village,
located in Uttarkashi district
of Uttarakhand. This natural
disaster led to the washing
away of hotels, houses, and
vehicles, resulting in the
deaths of at least 4 people
and over 50 to 100 missing
persons. Experts suspect a
possible glacial lake outburst
or landslide worsened the

situation./tqykbZ 2025 esa] mÙkjk•aM
ds mÙkjdk'kh ftys esa /jkyh xkao esa
,d ewlyk/kj ckfj'k us fouk'kdkjh
ck<+ dks fVªxj fd;kA bl çkÑfrd
vkink ds dkj.k gksVy] ?kj vkSj okgu
cg x,] ftlds ifj.kkeLo:i de ls
de 4 yksxksa dh e`R;q gqbZ vkSj 50 ls
100 ls vf/d yksx ykirk gks x,A
fo'ks"kKksa dks lansg gS fd laHkor% fgeun
>hy dk iQVuk ;k HkwL•yu us fLFkfr
dks vkSj •jkc fd;kA

49. (a) The film 12th Fail, directed by

Vidhu Vinod Chopra and

starring Vikrant Massey,

won the Best Feature Film

award at the 71st National

Film Awards (2025) for its

inspiring story based on real-

life struggles of an UPSC

aspirant./fiQYe *12oha iQsy*]

ftldk funZs'ku fo/q fouksn pksiM+k us

fd;k vkSj ftlesa foØkar eSlh us vfHku;

fd;k] us 71osa jk"Vªh; fiQYe iqjLdkjksa

(2025) esa ,d ;wih,llh mEehnokj

ds okLrfod thou ds la?k"kks± ij

vkèkkfjr çsj.kknk;d dgkuh ds fy,

loZJs"B iQhpj fiQYe dk iqjLdkj thrkA
50. (b)Shah Rukh Khan won the

Best Actor award at the 71st

National Film Awards (2025)

for his performance in the

film "Jawan". This was his

first National Award,

marking a major

achievement in his film

career./'kkg#• •ku us fiQYe

^toku* esa vius çn'kZu ds fy, 71osa

jk"Vªh; fiQYe iqjLdkjksa (2025) esa

loZJs"B vfHkusrk dk iqjLdkj thrkA

;g mudk igyk jk"Vªh; iqjLdkj Fkk]

tks muds fiQYeh dfj;j esa ,d cM+h

miyfC/ FkhA

C - QUANTITATIVE APTITUDE

51. (c) Let ratio of sides = x : 2x

 2 180x

x

  
 = 120°

x = 6, 2x = 12

Second polygon angle =

 12 2 180

12

 

= 150°

52. (b)Triangular field having sides

50m, 70m and 80m

S = 
50 70 80

2

 
 = 100

Area

= 100 (100 50)(100 70)(100 80)   

= 100 50 30 20  

= 1000 3

A.T.Q,

 23

4
x  = 1000 3

 x2 = 4000  x = 63.2

53. (c)

1
11

3
days

1
5 days

3

16
days

3
A = B 6 days

Let B will finish the work in
x days

A.T.Q,


16 1

3 48
  + 

1
6

x
  = 1

 
1

9
 + 

6

x
 = 1


6

x
 = 

8

9
  x = 

27

4
 days

 B alone will  finish 4 times
the same  work

= 
27

4
4

  = 27 days

54. (a)
tan sec 1

tan sec 1

    
      sec= 

1

k

 Putting  = 30°

tan30 sec30 1 1
sec30

tan30 sec30 1 k

  
   



1 2
1

3 3
1 2

1
3 3

 

 

 × 
2

3
 = 

1

k



1
1

3

3 1




 × 

2

3
 = 

1

k


 
 
3 1

3 3 1




 × 

2

3
 = 

1

k


1

k
 = 

2

3
  k = 

3

2
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From option (a)

1 + sin  1 + sin30

 
1 3

1
2 2

 

 k = 1+ sin

55. (d)ATQ,

7
13

9
13

800
13×100

1
13

1
13

 1      :        1

Hence, Required ratio = 1:1

56. (b)A.T.Q,

105 105

100 (105 100)


  × x

= `35280

 
21 21

20 41
  × x = `35280

 x = `65600

57. (d)9a2 + 4b2 + c2 + 21 = 4(3a + b
– 2c)

 (3a)2 – 12a + 4 + (2b)2 – 4b
+1 + c2 + 8c + 16 = 0

(3a – 2)2 + (2b – 1)2 + (c +
4)2 = 0

3a – 2 = 0, 2b –1 = 0, c + 4
= 0

 a = 
2

3
, b = 

1

2
, c = – 4

Now, 9a + 4b – c

9 × 
2

3
+ 4 ×

1

2
 – (– 4)

 6 + 2 + 4 = 12

58. (a) Let speed of a person = x km/
hr

speed of current = y km/hr

A.T.Q,

4

x y  = 
80

60

 x – y = 3 ...(i)

and 
4

x y  = 
24

60

 x + y = 10 ...(ii)

On solving,

x = 
13

2
 and y = 

7

2

Time taken to row 13 km in

still water

= 
13 2

13


 = 2 hours

59. (b) A Q

B P

RC
70°

O

OCR = ORC = OCB –

RCB

= 90° – 70°

= 20°

CRQ = ORC + ORQ

= 20° + 90°

=  110°

60. (b) OCD = COE (Alternate

angles)

COE = 80°

BOE + BOC = COE

BOE = 80° – 25° = 55°

BOA + BOE = 180°

(Internal angles)

ABE = BOE = 180°

 + 55 = 180°

 = 125°

61. (b)Putting x = 6, y = 3 or x = 2, y
= 7,

number 1330x558y2 is
divisible by 88.

Now, x + y = 6 + 3 = 9 or 2 +
7 = 9

Hence, the value of (x + y) =
9

62. (b)

A B

C

D
y

80°70°

ACB = 180° – 70° – 80°

= 30°

Given ACB  = 2x°

x = 
1

2 ACB

= 
1

2
 × 30° = 15°

CD & BD are angle bisector

of C  & B  respectively

y = 180° – 
30

2
– 

80

2

= 125°

63. (c) Ratio of the present ages of A

and B

 = 8 : 15

Let A's age = 8x,

B's age = 15x

A.T.Q,

8 8

15 8

x

x




 = 
6

13

 104x – 104 = 90x – 48

 14x = 56  x = 4

A's age = 8 × 4 = 32,

B's age = 15 × 4 = 60

The required ratio

= (32 + 8) : (60 + 8) = 40 : 68

= 10 : 17

64. (a) Given PC = 9 cm, BP = 15 cm.

AB = 14 cm.

Now, DP = 14 – 9 = 5 cm.

In BPC,

BC2 = 152 – 92

BC = 12 cm

In APD,

AP2 = AD2 + DP2

= 122 + 52

= 13 cm

In ABP,

AP < AB < BP

 <  < 
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65. (a) Let C.P of table = ` x

and C.P of chair = ` y

S.P of table = 
115

100
x   =

23

20

x

S.P of chair = y ×
90

100
 = 

9

10

y

A.T.Q,

6x + 12y = 12000

x + 2y = 2000 ...(i)

and 
23 9

6 12
20 10

x y       – (6x +

12y) = 3000

 69x + 108y – 60x – 120y =

3000

 9x – 12y = 3000

 3x – 4y = 1000 ...(ii)

From eq. (i) and (ii)

x = 1000, y = 500

Total cost of the tables = 6 ×

1000

= ` 6000

66. (b)ATQ,

l = b + 5

Then, lb = b (b + 5)  = 150

 b2 + 5b – 150 = 0

 (b + 15) (b –10) = 0

 b = –15 or b = 10

But breadth cannot be nega-

tive

So, Required perimeter = 2 (l

+ b) = 50cm

67. (d)ATQ,

Required Area = (3 + 4 + 5) ×

8

=  96 cm2

68. (a) P = 8100,

n = 

1
1 years

4
5

 = 
15months

5

= 3

r = 
8

5
12

  = 
10

3

Now, A = P 1
100

n
r   

 A = 8100 

3
10

1
300

   

A = 8100 × 

3
1

1
30

   

A = 8100 × 
31

30
×

31

30
×

31

30

A = 8937.3

Interest = 8937.3 – 8100

= 837.3  837

69. (c) Let for different positive

numbers

= a < b < c < d

A.T.Q,

1

3
 × 

4

a b c d  
= d – 19

 a + b + c + d = 12d – 228

 a + b + c – 11d = – 228

...(i)

and 
3

a b c 
 = 12

a + b + c = 36 ...(ii)

From eq. (i) and (ii)

36 – 11d = – 228

 11d = 36 + 228

 11d = 264  d = 24

70. (b)sin230°.cos245° + 4tan230°

+ 
1

2
sin290° + 2cos90°

 

2
1

2

 
   ×

2
1

2

 
   + 4 × 

2
1

3

 
   +

1

2

× (1)2 + 2 × 0

 
1

4
 × 

1

2
 + 4 × 

1

3
 + 

1

2

 
1

8
 + 

4

3
 + 

1

2

 
3 32 12

24

 
 = 

47

24

71. (d)A : B = 7 : 12,  B : C = 8 : 5

A : B : C
7 : 12  12
8  8 : 5

56 : 96 : 60

14 : 24 : 15

ATQ.,

(15 – 14) units = 428

1 unit = 428

 x = (14 + 24 + 15) × 428

x = 53 × 428 = `22684

72. (d)Central angle of the sector

= 
65

300
×360°  = 78°

73. (a) The required percent

= 
 56 64 65

56 64

 


 × 100

= 
120 65

100
120

 

= 
55

100
120



= 45.8%

74. (b)The required ratio

= (66 + 54) : (46 + 50 + 64)

= 120 : 160 = 3 : 4

75. (a) The required percent

=
44 46

250


× 100 = 

90
100

250


= 36
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D-ENGLISH COMPREHENSION

76. (c) Fleeting ({kf.kd) means

lasting for a very short time
or passing quickly.

While, Constant (fuj arj)
means continuing without
interruption or unchanging
over time.

Same (leku)  means

identical or not different.

Flexible (yphyk) means

capable of bending easily or
being adaptable.

Varying (cnyrk gqvk) means

changing or differing in some
way.

77. (b)The correct sentence is “The
young pirate is cleverer
than the captain of the
ship” because in
comparative degree, an
adjective like clever takes
the –er form with “than” (not
“more”), avoiding a double
comparative.

78. (c) Correct spelling is Itinerary–
means a planned route or
schedule of a journey.
Other correct spellings are:
Arbitrary – means based on
random choice or personal
whim, rather than reason.
Confidential – means
intended to be kept secret or
private.
Mandatory – means required
by law or rule; compulsory.

79. (b) “Army brigadier”  starts
with a vowel sound (“ar”), so
we use an.
“MBA”  pronounced “em-
bee-ay”, starting with a vowel
sound (“em”), so we use an.

80. (d)Cortege – means a solemn
procession, especially at a
funeral.
Caravan – means a group of
people, vehicles, or animals
traveling together, often
across a desert.
Posse – means a group of
people with a common
purpose, often armed.
Procession – means an
organized line or group

moving forward, but not
necessarily for a funeral.

81. (c) After “did not,” we always
use the base form of the verb
(bare infinitive), so it should
be did not bring, not
“brought” or “had brought.”

82. (c) Half a loaf is better than
none – Something is better
than nothing.
Better safe than sorry – Be
cautious to avoid regret.
A rolling stone gathers no
moss – Constant moving
prevents stability.
The early bird gets the
worm – Acting early brings
advantage.

83. (a) Whispering (iQ qliQ qlku k)
means speaking very softly,
using breath without vocal
cords, so that only nearby
people can hear. While,

Yelling (fpYykuk) means

speaking or shouting very
loudly, often to be heard
from a distance.

Beating (ihVu k)  means

hitting repeatedly.

Crying (j k s u k)  means

shedding tears, often from
sadness or pain.

Murmuring (cM +cM + ku k)
means speaking softly and
unclearly.

84. (d)starts with the time
reference: in the year of
1945,
introduces the subject:
United Nations Organisation
states the main action:
came into being as
completes the point: the
successor of the League of
Nation

85. (a) Active Voice Structure:
Let’s + base verb + object +
extra info
Let’s recall the chapter once
again.
Passive Voice Structure:
Let + object + be + past
participle + extra info + by +
subject
Let the chapter be recalled
once again by us.

86. (c) The correct spelling is
Leaned means the past
tense of lean, referring to
bending or inclining forward
or to one side.

87. (d)Fall on deaf ears – means
to be ignored or disregarded.
In the sentence, Mona’s
appeals were ignored by the
authority, which is why she
left the job.
Cut corners – to do
something in a cheap or easy
way, ignoring quality.
Boil the ocean – to take on
an impossible or overly
ambitious task.
Cool the heels – to be kept
waiting for a long time.

88. (b) “Founded” means
established (like a company),
but here the meaning is
discovered/located. The
correct verb is found.

89. (c) Abscond (iQjkj gksuk) means

to leave hurriedly and
secretly, similar to Flee

(Hkkxuk), which refers to

running away from danger or
capture.

Annoy (fp<+kuk) means to

irritate or bother someone.

Avoid (cpuk) means to keep

away from or prevent from
happening.

90. (b)When describing a past
action that happened before
another past action, we use
past perfect:
had been married =
marriage duration before the
attempt.

91. (c) Austere (lknk @ dBksj) means

strict, self-disciplined, or
severe in manner, similar to

Stern (dBksj), which refers to

someone firm and serious in
attitude.

Morose (mnkl) means sullen

or ill-tempered.

Aged (o`¼) means old in

years.

Composed ('kk ar) means

calm and self-controlled.
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92. (c) “Need” can act as a modal

verb  (like can, should,

must). When used in its

modal form, it’s followed

directly by the base form of

the main verb without “to”.

93. (c) The correct order is CEDBA

C starts with the main idea:

embracing failure as a

powerful teacher.

E introduces the subject:

innovative organizations like

SpaceX led by.

D adds detail: Elon Musk

achieve remarkable

milestones.

B explains the reason: through

resilience and learning from

setbacks.

A concludes the point: in their

journey to revolutionize

space travel.

94. (a)Conglomerate – a large

corporation consisting of

different companies

operating in varied

industries.
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73. (a)

74. (b)

75. (a)

76. (c)

77. (b)

78. (c)

79. (b)

80. (d)

81. (c)

82. (c)

83. (a)

84. (d)

85. (a)

86. (c)

87. (d)

88. (b)

89. (c)

90. (b)

91. (c)

92. (c)

93. (c)

94. (a)

95. (a)

96. (a)

97. (c)

98. (b)

99. (a)

100.(a)

ANSWER KEY
Correlation – a mutual

relationship or connection

between two or more things.

Agreement – a negotiated

arrangement between

parties.

Association – an

organization formed for a

shared purpose or activity.

95. (a) Active Voice Structure:

Subject + past verb + object

+ extra info

The reviewer gave a dazzling

review of the restaurant,

which then went viral.

Passive Voice Structure:

Object + was + past

participle + by + subject +

extra info

A dazzling review of the

restaurant was given by the

reviewer, which then went

viral.

96. (a)

97. (c)

98. (b)

99. (a)

100.(a)


